

**PROPERTIES FOR A CLASS RELATED TO A NEW FRACTIONAL
DIFFERENTIAL OPERATOR**

M. A. MOWAFY¹, A. O. MOSTAFA² AND S. M. MADIAN³

ABSTRACT. The object of this paper is to introduce and study some properties such as coefficient estimate, distortion theorems, radii of starlikeness, convexity and close-to-convexity of a class defined by Al-Oboudi - Al-Amoudi operator.

1. INTRODUCTION

Let \mathcal{A} denote the class of functions:

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k, \tag{1.1}$$

which are analytic in $U = \{z \in \mathbb{C} : |z| < 1\}$ and $\mathfrak{S} \subset \mathcal{A}$ for which

$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k \quad (a_k \geq 0). \tag{1.2}$$

The fractional derivative of order α for analytic function f defined in a simply connected domain that contains zero is defined by [16]:

$$D_z^\alpha f(z) = \frac{1}{\Gamma(1-\alpha)} \int_0^z \frac{f(t)}{(z-t)^\alpha} dt, \quad 0 \leq \alpha < 1, \tag{1.3}$$

$$\Omega^\alpha f(z) = \Gamma(2-\alpha) z^\alpha D_z^\alpha f(z)$$

$$= z + \sum_{k=2}^{\infty} \frac{\Gamma(k+1)\Gamma(2-\alpha)}{\Gamma(k+1-\alpha)} a_k z^k, \tag{1.4}$$

where multiplicity of $(z-t)^{-\alpha}$ is removed by requiring $\log(z-t)$, to be real when $z-t > 0$ (see also [16], [17]). Define the new operator

1991 *Mathematics Subject Classification.* Mathematics Subject Classification: 30C45.

Key words and phrases. Coefficient estimate, extreme points, closure theorem, growth and distortion.

Submitted Oct. 27, 2022. Revised Nov. 6, 2022.

$$\begin{aligned}
 D_\lambda^{0,0} f(z) &= f(z), \\
 D_\lambda^{1,\alpha} f(z) &= (1 - \lambda) \Omega^\alpha f(z) + \lambda z (\Omega^\alpha f(z))' = D_\lambda^\alpha f(z), \quad \lambda \geq 0, 0 \leq \alpha < 1, \\
 D_\lambda^{2,\alpha} f(z) &= D_\lambda^\alpha (D_\lambda^\alpha f(z)), \\
 D_\lambda^{n,\alpha} f(z) &= D_\lambda^\alpha (D_\lambda^{n-1,\alpha} f(z)), \quad n \in \mathbb{N}_0 = \mathbb{N} \cup \{0\},
 \end{aligned}$$

If f is given by (1.1) then

$$D_\lambda^{n,\alpha} f(z) = z + \sum_{k=2}^{\infty} \Psi_{k,n}(\alpha, \lambda) a_k z^k \tag{1.5}$$

where

$$\Psi_{k,n}(\alpha, \lambda) = \frac{\Gamma(k+1)\Gamma(2-\alpha)}{\Gamma(k+1-\alpha)} [1 + \lambda(k-1)]^n. \tag{1.6}$$

Observe that this operator modified the operator of [2, 3], and we note that:

- (i) $D_\lambda^{0,\alpha} = D_z^\alpha$ (see [16], [17]),
- (ii) $D_1^{n,0} = D^n$ [19],
- (iii) $D_\lambda^{n,0} = D_\lambda^n$ [1].

Definition 1. For $\lambda, \mu \geq 0, \gamma \geq 1, 0 \leq \alpha, \beta < 1, 0 \leq \delta \leq 1, n \in \mathbb{N}_0$, a function $f \in \mathcal{A}$ is in the class $S_\lambda^{n,\alpha}(\delta, \gamma, \mu, \beta)$, if it satisfy.

$$\operatorname{Re} \left\{ \frac{\gamma z G'(z)}{G(z)} - (\gamma - 1) \right\} > \mu \left| \frac{\gamma z G'(z)}{G(z)} - \gamma \right| + \beta, \tag{1.7}$$

where

$$G(z) = (1 - \delta) D_\lambda^{n,\alpha} f(z) + \delta z (D_\lambda^{n,\alpha} f(z))'. \tag{1.8}$$

Let

$$TS_\lambda^{n,\alpha}(\delta, \gamma, \mu, \beta) := S_\lambda^{n,\alpha}(\delta, \gamma, \mu, \beta) \cap \mathfrak{S}. \tag{1.9}$$

Note that:

$S_\lambda^{n,\alpha}(0, 1, \mu, \beta) = SP_{\alpha,\lambda}^n(\mu, \beta), S_\lambda^{n,\alpha}(1, 1, \mu, \beta) = UCV_{\alpha,\lambda}^n(\mu, \beta)$, [2, 3, with $\Psi_{k,n}(\alpha, \lambda)$ of the form (1.6)]. For different values of $n, \alpha, \lambda, \delta, \gamma, \mu$, and β , we get the classes defined by [3 – 15], [18] and [20].

2. COEFFICIENT ESTIMATE

In the rest of the paper, let $0 \leq \alpha, \beta < 1, \lambda, \mu \geq 0, \gamma \geq 1, 0 \leq \delta \leq 1, n \in \mathbb{N}_0$, $\Psi_{k,n}(\alpha, \lambda)$ as (1.6) and f given by (1.2).

Theorem 1. For $f \in \mathfrak{S}, f \in TS_\lambda^{n,\alpha}(\delta, \gamma, \mu, \beta)$, if and only if

$$\sum_{k=2}^{\infty} [1 - \beta + \gamma(k-1)(1+\mu)] [1 + (k-1)\delta] \Psi_{k,n}(\alpha, \lambda) a_k \leq 1 - \beta. \quad (2.1)$$

Proof . Assume that (2.1) hold. And using the fact that for real β and complex number w ,

$$\operatorname{Re}(w) \geq \beta \Leftrightarrow |w + (1 - \beta)| - |w - (1 + \beta)| \geq 0, \quad (2.2)$$

it is sufficient to show that

$$\begin{aligned} & \left| \frac{\gamma z G'(z)}{G(z)} - (\gamma - 1) - \mu \left| \frac{\gamma z G'(z)}{G(z)} - \gamma \right| - (1 + \beta) \right| \leq \\ & \left| \frac{\gamma z G'(z)}{G(z)} - (\gamma - 1) - \mu \left| \frac{\gamma z G'(z)}{G(z)} - \gamma \right| + (1 - \beta) \right|. \end{aligned} \quad (2.3)$$

For the right-hand side of (2.3)

$$\begin{aligned} R & : = \left| \frac{\gamma z G'(z)}{G(z)} - (\gamma - 1) - \mu \left| \frac{\gamma z G'(z)}{G(z)} - \gamma \right| + (1 - \beta) \right| \\ & = \frac{1}{|G(z)|} \left| \gamma z G'(z) + (2 - \beta - \gamma) G(z) - \mu e^{i\theta} \left| \gamma z G'(z) - \gamma G(z) \right| \right| \\ & > \frac{|z|}{|G(z)|} \left\{ 2 - \beta - \sum_{k=2}^{\infty} [2 - \beta + \gamma(k-1)(1+\mu)] [1 + (k-1)\delta] \Psi_{k,n}(\alpha, \lambda) |a_k| \right\}. \end{aligned}$$

Similarly, for the left-hand side of (2.3) we have

$$\begin{aligned} L & : = \left| \frac{\gamma z G'(z)}{G(z)} - (\gamma - 1) - \mu \left| \frac{\gamma z G'(z)}{G(z)} - \gamma \right| - (1 + \beta) \right| \\ & = \frac{1}{|G(z)|} \left| \gamma z G'(z) - (\gamma - 1) G(z) - \mu e^{i\theta} \left| \gamma z G'(z) - \gamma G(z) \right| - (1 + \beta) G(z) \right| \\ & < \frac{|z|}{|G(z)|} \left\{ \beta + \sum_{k=2}^{\infty} [\gamma(k-1)(1+\mu) - \beta] [1 + (k-1)\delta] \Psi_{k,n}(\alpha, \lambda) |a_k| \right\}. \end{aligned}$$

Since

$$R - L >$$

$$\frac{|z|}{|G(z)|} \left\{ 2(1 - \beta) - 2 \sum_{k=2}^{\infty} [1 - \beta + \gamma(k-1)(1+\mu)] [1 + (k-1)\delta] \Psi_{k,n}(\alpha, \lambda) |a_k| \right\} \geq 0,$$

then the required condition (2.3) is satisfied, so $f \in TS_{\lambda}^{n,\alpha}(\delta, \gamma, \mu, \beta)$.

Conversely, let $f \in TS_{\lambda}^{n,\alpha}(\delta, \gamma, \mu, \beta)$, choosing the values of z , on the positive

real axis, the inequality (1.7) reduces to:

$$\frac{1 - \sum_{k=2}^{\infty} [1 + (k - 1) \gamma] [1 + (k - 1) \delta] \Psi_{k,n}(\alpha, \lambda) a_k z^{k-1}}{1 - \sum_{k=2}^{\infty} [1 + (k - 1) \delta] \Psi_{k,n}(\alpha, \lambda) a_k z^{k-1}} - \beta > \mu \left| \frac{\sum_{k=2}^{\infty} [1 + (k - 1) \gamma] [1 + (k - 1) \delta] \Psi_{k,n}(\alpha, \lambda) a_k z^{k-1}}{1 - \sum_{k=2}^{\infty} [1 + (k - 1) \delta] \Psi_{k,n}(\alpha, \lambda) a_k z^{k-1}} \right|.$$

Letting $z \rightarrow 1^-$, we obtain the desired inequality.

Corollary 2. *If $f \in TS_{\lambda}^{n,\alpha}(\delta, \gamma, \mu, \beta)$, then*

$$a_k \leq \frac{1 - \beta}{[1 - \beta + \gamma(k - 1)(1 + \mu)] [1 + (k - 1) \delta] \Psi_{k,n}(\alpha, \lambda)} \quad (k \geq 2). \tag{2.4}$$

Equality holds for

$$f(z) = z - \frac{1 - \beta}{[1 - \beta + \gamma(k - 1)(1 + \mu)] [1 + (k - 1) \delta] \Psi_{k,n}(\alpha, \lambda)} z^k \quad (k \geq 2). \tag{2.5}$$

3. GROWTH AND DISTORTION THEOREM

Theorem 3. *Let $f \in TS_{\lambda}^{n,\alpha}(\delta, \gamma, \mu, \beta)$. Then, for $|z| = r < 1$*

$$r - \frac{1 - \beta}{B_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)} r^2 \leq |f(z)| \leq r + \frac{1 - \beta}{B_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)} r^2 \tag{3.1}$$

and

$$1 - \frac{2(1 - \beta)}{B_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)} r \leq |f'(z)| \leq 1 + \frac{2(1 - \beta)}{B_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)} r, \tag{3.2}$$

where

$$B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta) = [1 - \beta + \gamma(k - 1)(1 + \mu)] [1 + (k - 1) \delta] \Psi_{k,n}(\alpha, \lambda) \quad (k \geq 2). \tag{3.3}$$

The function gives the sharpness is

$$f(z) = z - \frac{1 - \beta}{B_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)} z^2. \tag{3.4}$$

Proof. Since $f \in TS_{\lambda}^{n,\alpha}(\delta, \gamma, \mu, \beta)$, then from Theorem 2.1 it follows that

$$\sum_{k=2}^{\infty} B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta) a_k \leq 1 - \beta.$$

We have

$$\begin{aligned} B_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta) \sum_{k=2}^{\infty} a_k &= \sum_{k=2}^{\infty} B_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta) a_k \\ &\leq \sum_{k=2}^{\infty} B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta) a_k \leq 1 - \beta \end{aligned}$$

and therefore

$$\sum_{k=2}^{\infty} a_k \leq \frac{1 - \beta}{B_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)}. \quad (3.5)$$

From (1.2) and (3.5) we have

$$|f(z)| \leq |z| + |z|^2 \sum_{k=2}^{\infty} a_k |z|^{k-2} \leq r + r^2 \sum_{k=2}^{\infty} a_k \leq r + \frac{1 - \beta}{B_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)} r^2$$

and

$$|f(z)| \geq |z| - |z|^2 \sum_{k=2}^{\infty} a_k |z|^{k-2} \geq r - r^2 \sum_{k=2}^{\infty} a_k \geq r - \frac{1 - \beta}{B_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)} r^2.$$

In virtue of Theorem 2.1, we also have

$$\frac{B_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)}{2} \sum_{k=2}^{\infty} k a_k = \sum_{k=2}^{\infty} \frac{B_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)}{2} k a_k \leq \sum_{k=2}^{\infty} B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta) a_k \leq 1 - \beta,$$

which yields

$$\sum_{k=2}^{\infty} k a_k \leq \frac{2(1 - \beta)}{B_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)}.$$

Thus,

$$|f'(z)| \leq 1 + \sum_{k=2}^{\infty} k a_k |z|^{k-1} \leq 1 + r \sum_{k=2}^{\infty} k a_k \leq 1 + \frac{2(1 - \beta)}{B_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)} r$$

and

$$|f'(z)| \geq 1 - \sum_{k=2}^{\infty} k a_k |z|^{k-1} \geq 1 - r \sum_{k=2}^{\infty} k a_k \geq 1 - \frac{2(1 - \beta)}{B_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)} r.$$

4. EXTREME POINTS

Next, we examine the extreme points for $\text{TS}_{\lambda}^{n, \alpha}(\delta, \gamma, \mu, \beta)$.

Theorem 4. *Let,*

$$f_1(z) = z \quad \text{and} \quad f_k(z) = z - \frac{1 - \beta}{B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)} z^k \quad (k \geq 2). \quad (4.1)$$

Then $f \in \text{TS}_{\lambda}^{n, \alpha}(\delta, \gamma, \mu, \beta)$ if and only if

$$f(z) = \sum_{k=1}^{\infty} \lambda_k f_k(z), \tag{4.2}$$

where $\lambda_k \geq 0$ ($k \geq 1$), $\sum_{k=1}^{\infty} \lambda_k = 1$ and $B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)$ is given by (3.3).

Proof. Assume that f as in (4.2), then

$$\begin{aligned} f(z) &= \lambda_1 z + \sum_{k=2}^{\infty} \lambda_k \left[z - \frac{1-\beta}{B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)} z^k \right] \\ &= z - \sum_{k=2}^{\infty} \lambda_k \frac{1-\beta}{B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)} z^k. \end{aligned}$$

Since

$$\sum_{k=2}^{\infty} B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta) \lambda_k \frac{1-\beta}{B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)} = (1-\beta) \sum_{k=2}^{\infty} \lambda_k = (1-\beta)(1-\lambda_1) \leq 1-\beta,$$

it follows that $f \in TS_{\lambda}^{n,\alpha}(\delta, \gamma, \mu, \beta)$. Conversely, suppose $f \in TS_{\lambda}^{n,\alpha}(\delta, \gamma, \mu, \beta)$ and

consider

$$\lambda_k = \frac{B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)}{1-\beta} a_k, \quad k \geq 2 \quad \text{and} \quad \lambda_1 := 1 - \sum_{k=2}^{\infty} \lambda_k.$$

Then

$$f(z) = \sum_{k=1}^{\infty} \lambda_k f_k(z).$$

Corollary 5. *The extreme points of the class $TS_{\lambda}^{n,\alpha}(\delta, \gamma, \mu, \beta)$ are given by (4.1).*

5. CLOSURE THEOREM

Let the functions $f_j \in \mathfrak{F}$ ($j = 1, 2, \dots, p$) defined by,

$$f_j(z) = z - \sum_{k=2}^{\infty} a_{k,j} z^k \quad (a_{k,j} \geq 0). \tag{5.1}$$

Theorem 6. *Let $f_j \in TS_{\lambda}^{n,\alpha}(\delta, \gamma, \mu, \beta)$ ($j = 1, 2, \dots, p$) and let $c_j \geq 0$ such that $\sum_{j=1}^p c_j = 1$. Then the function $h \in TS_{\lambda}^{n,\alpha}(\delta, \gamma, \mu, \beta)$,*

$$h(z) = \sum_{j=1}^p c_j f_j(z).$$

Proof. In virtue of the definition of h ,

$$h(z) = \sum_{j=1}^p c_j \left[z - \sum_{k=2}^{\infty} a_{k,j} z^k \right] = z - \sum_{k=2}^{\infty} \left(\sum_{j=1}^p c_j a_{k,j} \right) z^k.$$

Since $f_j \in TS_{\lambda}^{n,\alpha}(\delta, \gamma, \mu, \beta)$, for every $j = 1, 2, \dots, p$, then

$$\sum_{k=2}^{\infty} B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta) a_{k,j} \leq 1 - \beta.$$

Hence, we get

$$\sum_{j=1}^p c_j \left(\sum_{k=2}^{\infty} B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta) a_{k,j} \right) \leq \sum_{j=1}^p c_j (1 - \beta) = 1 - \beta,$$

therefore

$$h(z) \in TS_{\lambda}^{n,\alpha}(\delta, \gamma, \mu, \beta).$$

Corollary 7. *The class $TS_{\lambda}^{n,\alpha}(\delta, \gamma, \mu, \beta)$ is closed under convex linear combination.*

Proof. Assume that $f_j \in TS_{\lambda}^{n,\alpha}(\delta, \gamma, \mu, \beta)$, ($j = 1, 2$) given by (5.1). It is sufficient to show that the function $h \in TS_{\lambda}^{n,\alpha}(\delta, \gamma, \mu, \beta)$,

$$h(z) = cf_1(z) + (1 - c)f_2(z) \quad (0 \leq c \leq 1).$$

By taking $p = 2$, $c_1 = c$ and $c_2 = 1 - c$ in Theorem 5.1 we obtain the corollary.

6. RADII OF STARLIKENESS, CONVEXITY AND CLOSE-TO-CONVEXITY

Theorem 8. *Let $f \in TS_{\lambda}^{n,\alpha}(\delta, \gamma, \mu, \beta)$. Then f is starlike of order ρ ($0 \leq \rho < 1$) in $|z| < r_1(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)$, where*

$$r_1(n, \alpha, \lambda, \delta, \gamma, \mu, \beta) = \inf_{k \geq 2} \left[\frac{(1 - \rho) B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)}{(k - \rho)(1 - \beta)} \right]^{\frac{1}{k-1}}.$$

Proof. To prove the theorem we must show that

$$\left| \frac{zf'(z)}{f(z)} - 1 \right| \leq 1 - \rho \quad (0 \leq \rho < 1).$$

For $z \in U$ with $|z| < r_1(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)$. We have

$$\left| \frac{zf'(z)}{f(z)} - 1 \right| = \left| \frac{-\sum_{k=2}^{\infty} (k-1) a_k z^{k-1}}{1 - \sum_{k=2}^{\infty} a_k z^{k-1}} \right| \leq \frac{\sum_{k=2}^{\infty} (k-1) a_k |z|^{k-1}}{1 - \sum_{k=2}^{\infty} a_k |z|^{k-1}}.$$

Thus

$$\left| \frac{zf'(z)}{f(z)} - 1 \right| \leq 1 - \rho,$$

if

$$\sum_{k=2}^{\infty} \left(\frac{k - \rho}{1 - \rho} \right) a_k |z|^{k-1} \leq 1, \quad (6.1)$$

in virtue of Theorem 2.1 we have

$$\sum_{k=2}^{\infty} \frac{B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta) a_k}{1 - \beta} \leq 1,$$

hence, the inequality (6.1) will be true if

$$\left(\frac{k-\rho}{1-\rho}\right) |z|^{k-1} \leq \frac{B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)}{1-\beta} \quad (k \geq 2),$$

or if

$$|z| \leq \left[\frac{(1-\rho) B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)}{(k-\rho)(1-\beta)} \right]^{\frac{1}{k-1}} \quad (k \geq 2).$$

Corollary 9. Let $f \in TS_{\lambda}^{n, \alpha}(\delta, \gamma, \mu, \beta)$, then f is convex of order ρ ($0 \leq \rho < 1$) in $|z| < r_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)$, where

$$r_2(n, \alpha, \lambda, \delta, \gamma, \mu, \beta) = \inf_{k \geq 2} \left[\frac{(1-\rho) B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)}{k(k-\rho)(1-\beta)} \right]^{\frac{1}{k-1}}.$$

Corollary 10. Let $f \in TS_{\lambda}^{n, \alpha}(\delta, \gamma, \mu, \beta)$, then f is close-to-convex of order ρ ($0 \leq \rho < 1$) in $|z| < r_3(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)$, where

$$r_3(n, \alpha, \lambda, \delta, \gamma, \mu, \beta) = \inf_{k \geq 2} \left[\frac{(1-\rho) B_k(n, \alpha, \lambda, \delta, \gamma, \mu, \beta)}{k(1-\beta)} \right]^{\frac{1}{k-1}}.$$

7. Acknowledgements

The authors would like to thank the referees of the paper for their helpful suggestions.

REFERENCES

- [1] F. M. Al-Oboudi, On univalent functions defined by a generalized Sălăgean operator, *Int. J. Math. Sci.*, 27(2004), 1429–1436.
- [2] F. M. Al-Oboudi and K. A. Al-Amoudi, On classes of analytic functions related to conic domains, *J. Math. Anal. Appl.*, (2007), 1 – 21.
- [3] M. K. Aouf and A. O. Mostafa, Some subordination results for classes of analytic functions defined by the Al-Oboudi–Al-Amoudi operator, *Arch. Math.*, 92 (2009), 279–286.
- [4] M. K. Aouf and A. O. Mostafa, Some properties of a subclass of uniformly convex functions with negative coefficients, *Demonstration, Math.*, 41 (2008), 353–370.
- [5] M. K. Aouf, A. O. Mostafa and A. A. Hussain, Properties of certain class of uniformly starlike and convex functions defined by convolution, *Int. J. Open Problems Complex Analysis*, 7 (2015), no. 2, 1–15.
- [6] M. K. Aouf, A. O. Mostafa, A. M. Shahin and S. M. Madian, Subordination theorem for analytic function defined by convolution, *Indian. J. Math.*, 54 (2012), no.1, 1–11.
- [7] M. K. Aouf, A. Shamandy, A. O. Mostafa and F. El-Emam, Subordination results associated with β –uniformly convex and starlike functions, *Proc. Pakistan Acad. Sci.* 46 (2009) no. 2, 97–101.
- [8] M. K. Aouf and G. Murugusundaramoorthy, On a subclass of uniformly convex functions defined by the Dziok–Srivastava operator, *Austral. J. Math. Anal. Appl.*, 5 (2008), 1–17.
- [9] R. Bharati, R. Parvatham and A. Swaminathan, On subclasses of uniformly convex functions and corresponding class of starlike functions, *Tamakang J. Math.*, 28 (1997), 17–32.
- [10] A. W. Goodman, On uniformly convex functions, *Ann. Polon. Math.*, 56 (1991), no. 1, 87–92.
- [11] A. W. Goodman, On uniformly starlike functions, *J. Math. Anal. Appl.*, 155 (1991), no. 2, 364 – 370.
- [12] S. Kanas and H. M. Srivastava, Linear operators associated with k –uniformly convex functions, *Int. Transf. Spec. Funct.*, 9 (2000), no. 2, 121 – 132.
- [13] S. Kanas and A. Wisniowska, Conic regions and k –uniformly convexity, *J. Comput. Appl. Math.*, 105 (1999), 327–336.

- [14] W. Ma and D. Minda, Uniformly convex functions, *Ann. Polon. Math.*, 57 (1992), 165-175.
- [15] G. Murugusundaramoorthy and N. Magesh, A new subclass of uniformly convex functions and corresponding subclass of starlike functions with fixed second coefficient, *J. Inequal. Pure Appl. Math.*, 5 (2004), 1–20.
- [16] S. Owa, On the distortion theorems, *Kyungpook Math. J.*, 18(1978), 53–59.
- [17] S. Owa and H. M. Srivastava, Univalent and starlike generalized hypergeometric functions, *Canad. J. Math.*, 39 (1987), 1057–1077.
- [18] F. Rønning, Uniformly convex functions and a corresponding class of starlike functions, *Proc. Amer. Math. Soc.*, 118 (1) (1993), no. 1, 189 – 196.
- [19] G. S. Sălăgean, Subclasses of univalent functions, *Lecture Notes in Math. Vol. 1013*, Springer, Berlin, (1983), 362-372.
- [20] S. Shams, S. R. Kulkarni, and J. M. Jahangiri, Classes of uniformly starlike and convex functions, *Int. J. Math. Sci.*, 55 (2004), 2959-2961.

M. A. MOWAFY, MATH. DEPT., FACULTY OF SCIENCE, MANSOURA UNIVERSITY, MANSOURA 35516, EGYPT

E-mail address: mohamed1976224@gmail.com

A. O. MOSTAFA, MATH. DEPT., FACULTY OF SCIENCE, MANSOURA UNIVERSITY, MANSOURA 35516, EGYPT

E-mail address: adelaeg254@yahoo.com

S. M. MADIAN, BASIC SCIENCE DEPT., HIGHER INSTITUTE FOR, ENGINEERING AND TECHNOLOGY, NEW DAMIETTA, EGYPT

E-mail address: samar_math@yahoo.com